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Grandpa is called Chris because his name is Christopher.

Our team's success was largely due to Samuel’s e�orts.

Thanks to rising exports, oil prices have edged up.

Since Mom is late, let’s not eat dinner now.

Mia had to start early in order to get a seat in the front row.

There was a growth in sales; as a result, pro�ts soared.

The radio gave us the warning; therefore, we took another route.

Dad had left a will; accordingly, Miriam had the house.

The cover was made from cotton, so it was easy for Dan to wash it.

Nathaniel had gotten a pay rise, hence the new phone.
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Transition Words

Underline the cause-or-effect transition word/phrase in each sentence.

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


